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3945.05

3945.1

TVC (Mean) vs TP delay (c,b,ch)=(4,1,2)
 / ndf 2χ  40.49 / 25

p0        0.0±  3945 

p1        0.0001867± -0.0004835 

TVC (Mean) vs TP delay (c,b,ch)=(4,1,2)

TP delay [ns]

0 50 100

3941.25

3941.3

3941.35

TVC (Mean) vs TP delay (c,b,ch)=(4,1,3)
 / ndf 2χ  28.17 / 25

p0        0.0±  3941 

p1        0.0001942± -0.0004431 

TVC (Mean) vs TP delay (c,b,ch)=(4,1,3)

TP delay [ns]

0 50 100
3935.9

3935.95

3936

3936.05

3936.1

TVC (Mean) vs TP delay (c,b,ch)=(4,1,4)
 / ndf 2χ  39.88 / 25

p0        0.0±  3936 

p1        0.0001814± -0.0006549 

TVC (Mean) vs TP delay (c,b,ch)=(4,1,4)

TP delay [ns]

0 50 100

3939.6

3939.8

3940

3940.2

3940.4

TVC (Mean) vs TP delay (c,b,ch)=(4,1,5)
 / ndf 2χ  36.53 / 25

p0        0.0±  3940 

p1        0.0002084± -0.0009141 

TVC (Mean) vs TP delay (c,b,ch)=(4,1,5)

TP delay [ns]

0 50 100

3948.5

3948.55

3948.6

3948.65

3948.7

TVC (Mean) vs TP delay (c,b,ch)=(4,1,6) / ndf 
2χ  37.15 / 25

p0        0.0±  3949 

p1        0.000197± -0.001148 

TVC (Mean) vs TP delay (c,b,ch)=(4,1,6)

TP delay [ns]

0 50 100

3940.5

3940.6

TVC (Mean) vs TP delay (c,b,ch)=(4,1,7)
 / ndf 2χ  34.27 / 25

p0        0.0±  3941 

p1        0.0001851± -0.0005293 

TVC (Mean) vs TP delay (c,b,ch)=(4,1,7)

TP delay [ns]

0 50 100

3950.05

3950.1

3950.15

3950.2

TVC (Mean) vs TP delay (c,b,ch)=(4,1,8)
 / ndf 2χ  15.97 / 25

p0        0.0±  3950 

p1        0.0002010± -0.0007085 

TVC (Mean) vs TP delay (c,b,ch)=(4,1,8)

TP delay [ns]

0 50 100
3943

3943.05

3943.1

3943.15

3943.2

TVC (Mean) vs TP delay (c,b,ch)=(4,1,9)
 / ndf 2χ  24.12 / 25

p0        0.0±  3943 

p1        0.0001840± -0.0009524 

TVC (Mean) vs TP delay (c,b,ch)=(4,1,9)

TP delay [ns]

0 50 100
3947.25

3947.3

3947.35

3947.4

3947.45
TVC (Mean) vs TP delay (c,b,ch)=(4,1,10)

 / ndf 2χ  27.31 / 25

p0        0.0±  3947 

p1        0.0001860± -0.0007011 

TVC (Mean) vs TP delay (c,b,ch)=(4,1,10)

TP delay [ns]

0 50 100

3900

3920

3940

TVC (Mean) vs TP delay (c,b,ch)=(4,1,11) / ndf 
2χ  61.48 / 25

p0        0.7±  3950 

p1        0.0262± -0.2193 

TVC (Mean) vs TP delay (c,b,ch)=(4,1,11)

TP delay [ns]

0 50 100

3938.95

3939

3939.05

3939.1

3939.15
TVC (Mean) vs TP delay (c,b,ch)=(4,1,12) / ndf 

2χ  22.34 / 25

p0        0.0±  3939 

p1        0.000211± -0.000529 

TVC (Mean) vs TP delay (c,b,ch)=(4,1,12)

TP delay [ns]

0 50 100

3941.5

3942

3942.5

3943

3943.5

TVC (Mean) vs TP delay (c,b,ch)=(4,1,13)
 / ndf 2χ  31.73 / 25

p0        0.0±  3944 

p1        0.0001940± -0.0007762 

TVC (Mean) vs TP delay (c,b,ch)=(4,1,13)

TP delay [ns]

0 50 100

3928

3930

3932

TVC (Mean) vs TP delay (c,b,ch)=(4,1,14)
 / ndf 2χ  26.22 / 25

p0        0.0±  3932 

p1        0.0001883± -0.0002424 

TVC (Mean) vs TP delay (c,b,ch)=(4,1,14)

TP delay [ns]

0 50 100

3932.9

3932.95

3933

3933.05

3933.1

TVC (Mean) vs TP delay (c,b,ch)=(4,1,15)
 / ndf 2χ  28.55 / 25

p0        0.0±  3933 

p1        0.0002041± -0.0007378 

TVC (Mean) vs TP delay (c,b,ch)=(4,1,15)



TP delay [ns]

0 50 100

3911

3911.05

3911.1

3911.15

TVC (Mean) vs TP delay (c,b,ch)=(4,2,0) / ndf 
2χ  42.84 / 25

p0        0.0±  3911 

p1        0.000184± -0.000309 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,0)

TP delay [ns]

0 50 100

3906

3908

3910

TVC (Mean) vs TP delay (c,b,ch)=(4,2,1)
 / ndf 2χ   18.3 / 25

p0        0.0±  3911 

p1        0.0002084± -0.0002916 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,1)

TP delay [ns]

0 50 100

3906.5

3907

3907.5

3908

TVC (Mean) vs TP delay (c,b,ch)=(4,2,2)
 / ndf 2χ  45.31 / 25

p0        0.0±  3908 

p1        0.0001825± -0.0002756 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,2)

TP delay [ns]

0 50 100

3911.15

3911.2

3911.25

3911.3

TVC (Mean) vs TP delay (c,b,ch)=(4,2,3)
 / ndf 2χ  34.46 / 25

p0        0.0±  3911 

p1        0.0001896± -0.0002987 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,3)

TP delay [ns]

0 50 100

3917.9

3917.95

3918

3918.05

TVC (Mean) vs TP delay (c,b,ch)=(4,2,4)
 / ndf 2χ  33.66 / 25

p0        0.0±  3918 

p1        0.0001950± -0.0003947 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,4)

TP delay [ns]

0 50 100

3913.35

3913.4

3913.45

TVC (Mean) vs TP delay (c,b,ch)=(4,2,5)
 / ndf 2χ  22.18 / 25

p0        0.0±  3913 

p1        0.0001820± -0.0004666 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,5)

TP delay [ns]

0 50 100

3910

3911

3912

TVC (Mean) vs TP delay (c,b,ch)=(4,2,6)
 / ndf 2χ  43.48 / 25

p0        0.0±  3912 

p1        0.0001849± -0.0001015 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,6)

TP delay [ns]

0 50 100

3915.6

3915.65

3915.7

TVC (Mean) vs TP delay (c,b,ch)=(4,2,7)
 / ndf 2χ  30.05 / 25

p0        0.0±  3916 

p1        0.0001796± -0.0006687 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,7)

TP delay [ns]

0 50 100

3907.3

3907.35

3907.4

3907.45

TVC (Mean) vs TP delay (c,b,ch)=(4,2,8) / ndf 
2χ  26.43 / 25

p0        0.0±  3907 

p1        0.000196± -0.001109 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,8)

TP delay [ns]

0 50 100

3914

3914.05

3914.1

3914.15

TVC (Mean) vs TP delay (c,b,ch)=(4,2,9)
 / ndf 2χ  38.63 / 25

p0        0.0±  3914 

p1        0.0001761± -0.0003072 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,9)

TP delay [ns]

0 50 100

3912.5

3913

3913.5

3914

TVC (Mean) vs TP delay (c,b,ch)=(4,2,10)
 / ndf 2χ  32.85 / 25

p0        0.0±  3914 

p1        0.0001855± -0.0008683 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,10)

TP delay [ns]

0 50 100

3918.45

3918.5

3918.55

TVC (Mean) vs TP delay (c,b,ch)=(4,2,11)
 / ndf 2χ  26.69 / 25

p0        0.0±  3919 

p1        0.0001846± -0.0006708 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,11)

TP delay [ns]

0 50 100
3897.45

3897.5

3897.55

3897.6

TVC (Mean) vs TP delay (c,b,ch)=(4,2,12)
 / ndf 2χ  22.54 / 25

p0        0.0±  3898 

p1        0.0001818± -0.0004346 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,12)

TP delay [ns]

0 50 100

3897.4

3897.45

3897.5

TVC (Mean) vs TP delay (c,b,ch)=(4,2,13)
 / ndf 2χ  31.08 / 25

p0        0.0±  3897 

p1        0.0001883± -0.0004713 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,13)

TP delay [ns]

0 50 100

3902.1

3902.15

3902.2

TVC (Mean) vs TP delay (c,b,ch)=(4,2,14)
 / ndf 2χ  29.11 / 25

p0        0.0±  3902 

p1        0.0001887± -0.0003632 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,14)

TP delay [ns]

0 50 100

3900.05

3900.1

3900.15

TVC (Mean) vs TP delay (c,b,ch)=(4,2,15)
 / ndf 2χ  25.74 / 25

p0        0.0±  3900 

p1        0.0001790± -0.0003414 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,15)



TP delay [ns]

0 50 100
3922.8

3922.85

3922.9

3922.95

3923

TVC (Mean) vs TP delay (c,b,ch)=(4,3,0)
 / ndf 2χ  55.71 / 25

p0        0.0±  3923 

p1        0.0001804± -0.0002861 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,0)

TP delay [ns]

0 50 100

3915

3915.05

3915.1

3915.15

TVC (Mean) vs TP delay (c,b,ch)=(4,3,1)
 / ndf 2χ  34.67 / 25

p0        0.0±  3915 

p1        0.000192± -0.000444 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,1)

TP delay [ns]

0 50 100
3916.7

3916.8

3916.9

TVC (Mean) vs TP delay (c,b,ch)=(4,3,2)
 / ndf 2χ  55.53 / 25

p0        0.0±  3917 

p1        0.0001795± -0.0009165 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,2)

TP delay [ns]

0 50 100

3917.75

3917.8

3917.85

3917.9

TVC (Mean) vs TP delay (c,b,ch)=(4,3,3)
 / ndf 2χ  30.98 / 25

p0        0.0±  3918 

p1        0.0001903± -0.0008126 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,3)

TP delay [ns]

0 50 100

3912.3

3912.35

3912.4

3912.45

TVC (Mean) vs TP delay (c,b,ch)=(4,3,4)
 / ndf 2χ  14.94 / 25

p0        0.0±  3912 

p1        0.0001905± -0.0008243 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,4)

TP delay [ns]

0 50 100

3907.4

3907.45

3907.5

TVC (Mean) vs TP delay (c,b,ch)=(4,3,5)
 / ndf 2χ  22.51 / 25

p0        0.0±  3907 

p1        0.0001849± -0.0004274 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,5)

TP delay [ns]

0 50 100

3932

3932.5

3933

TVC (Mean) vs TP delay (c,b,ch)=(4,3,6)
 / ndf 2χ  43.61 / 25

p0        0.0±  3933 

p1        0.0002132± -0.0008305 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,6)

TP delay [ns]

0 50 100
3921.95

3922

3922.05

3922.1

TVC (Mean) vs TP delay (c,b,ch)=(4,3,7)
 / ndf 2χ  25.96 / 25

p0        0.0±  3922 

p1        0.0001844± -0.0006019 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,7)

TP delay [ns]

0 50 100

3926.25

3926.3

3926.35

3926.4

TVC (Mean) vs TP delay (c,b,ch)=(4,3,8)
 / ndf 2χ  27.24 / 25

p0        0.0±  3926 

p1        0.0001955± 0.0002321 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,8)

TP delay [ns]

0 50 100

3918.55

3918.6

3918.65

3918.7

3918.75

TVC (Mean) vs TP delay (c,b,ch)=(4,3,9)
 / ndf 2χ  40.03 / 25

p0        0.0±  3919 

p1        0.0001928± -0.0002815 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,9)

TP delay [ns]

0 50 100

3916.2

3916.25

3916.3

3916.35

TVC (Mean) vs TP delay (c,b,ch)=(4,3,10)
 / ndf 2χ  31.31 / 25

p0        0.0±  3916 

p1        0.0001903± 0.0001295 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,10)

TP delay [ns]

0 50 100

3927.35

3927.4

3927.45

3927.5

TVC (Mean) vs TP delay (c,b,ch)=(4,3,11)
 / ndf 2χ   23.7 / 25

p0        0.0±  3927 

p1        0.0001830± -0.0001507 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,11)

TP delay [ns]

0 50 100

3936.2

3936.25

3936.3

TVC (Mean) vs TP delay (c,b,ch)=(4,3,12)
 / ndf 2χ  21.94 / 25

p0        0.0±  3936 

p1        0.0002069± -0.0002196 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,12)

TP delay [ns]

0 50 100

3930.1

3930.15

3930.2

TVC (Mean) vs TP delay (c,b,ch)=(4,3,13)
 / ndf 2χ  27.42 / 25

p0        0.0±  3930 

p1        0.0001685± -0.0003168 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,13)

TP delay [ns]

0 50 100

3929.5

3930

3930.5

TVC (Mean) vs TP delay (c,b,ch)=(4,3,14)
 / ndf 2χ   47.9 / 25

p0        0.0±  3931 

p1        0.0001845± -0.0003148 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,14)

TP delay [ns]

0 50 100

3933.9

3933.95

3934

3934.05

TVC (Mean) vs TP delay (c,b,ch)=(4,3,15)
 / ndf 2χ  41.04 / 25

p0        0.0±  3934 

p1        0.0001616± -0.0002535 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,15)



TP delay [ns]

0 50 100

3920.1

3920.15

3920.2

3920.25

3920.3

TVC (Mean) vs TP delay (c,b,ch)=(4,4,0)
 / ndf 2χ  33.13 / 25

p0        0.0±  3920 

p1        0.0002008± -0.0007709 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,0)

TP delay [ns]

0 50 100

3900

3905

3910

3915

TVC (Mean) vs TP delay (c,b,ch)=(4,4,1) / ndf 
2χ  60.32 / 25

p0        0.0±  3919 

p1        0.000634± -0.001339 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,1)

TP delay [ns]

0 50 100

3931.85

3931.9

3931.95

3932

3932.05

TVC (Mean) vs TP delay (c,b,ch)=(4,4,2)
 / ndf 2χ  42.49 / 25

p0        0.0±  3932 

p1        0.0001913± -0.0008165 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,2)

TP delay [ns]

0 50 100

3926.7

3926.75

3926.8

3926.85

TVC (Mean) vs TP delay (c,b,ch)=(4,4,3)
 / ndf 2χ  46.03 / 25

p0        0.0±  3927 

p1        0.0001760± -0.0005507 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,3)

TP delay [ns]

0 50 100
3928.35

3928.4

3928.45

3928.5

3928.55

TVC (Mean) vs TP delay (c,b,ch)=(4,4,4)
 / ndf 2χ  44.56 / 25

p0        0.0±  3929 

p1        0.0001869± -0.0009729 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,4)

TP delay [ns]

0 50 100

3934

3934.05

3934.1

3934.15

TVC (Mean) vs TP delay (c,b,ch)=(4,4,5)
 / ndf 2χ  25.48 / 25

p0        0.0±  3934 

p1        0.0001911± -0.0006032 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,5)

TP delay [ns]

0 50 100

3929.85

3929.9

3929.95

3930

3930.05

TVC (Mean) vs TP delay (c,b,ch)=(4,4,6)
 / ndf 2χ  39.07 / 25

p0        0.0±  3930 

p1        0.000195± -0.001094 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,6)

TP delay [ns]

0 50 100

3921.5

3921.6

3921.7

TVC (Mean) vs TP delay (c,b,ch)=(4,4,7) / ndf 
2χ  37.74 / 25

p0        0.0±  3922 

p1        0.00018± -0.00094 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,7)

TP delay [ns]

0 50 100

3945.7

3945.8

TVC (Mean) vs TP delay (c,b,ch)=(4,4,8)
 / ndf 2χ  24.24 / 25

p0        0.0±  3946 

p1        0.0001958± -0.0008629 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,8)

TP delay [ns]

0 50 100

3944.8

3944.85

3944.9

3944.95

3945
TVC (Mean) vs TP delay (c,b,ch)=(4,4,9)

 / ndf 2χ  48.24 / 25

p0        0.0±  3945 

p1        0.0001794± -0.0008205 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,9)

TP delay [ns]

0 50 100

3944.9

3944.95

3945

3945.05

3945.1

TVC (Mean) vs TP delay (c,b,ch)=(4,4,10) / ndf 
2χ  31.02 / 25

p0        0.0±  3945 

p1        0.000198± -0.000768 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,10)

TP delay [ns]

0 50 100
3938.45

3938.5

3938.55

3938.6

3938.65

TVC (Mean) vs TP delay (c,b,ch)=(4,4,11) / ndf 
2χ  49.79 / 25

p0        0.0±  3939 

p1        0.000182± -0.001173 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,11)

TP delay [ns]

0 50 100

3932.45

3932.5

3932.55

3932.6

TVC (Mean) vs TP delay (c,b,ch)=(4,4,12)
 / ndf 2χ  22.34 / 25

p0        0.0±  3933 

p1        0.0001857± -0.0005299 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,12)

TP delay [ns]

0 50 100

3941.85

3941.9

3941.95

3942

3942.05
TVC (Mean) vs TP delay (c,b,ch)=(4,4,13)

 / ndf 2χ  38.25 / 25

p0        0.0±  3942 

p1        0.0001940± -0.0004899 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,13)

TP delay [ns]

0 50 100

3939.25

3939.3

3939.35

3939.4

TVC (Mean) vs TP delay (c,b,ch)=(4,4,14)
 / ndf 2χ  22.65 / 25

p0        0.0±  3939 

p1        0.0001906± -0.0003744 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,14)

TP delay [ns]

0 50 100

3930.85

3930.9

3930.95

TVC (Mean) vs TP delay (c,b,ch)=(4,4,15)
 / ndf 2χ  24.03 / 25

p0        0.0±  3931 

p1        0.0001988± -0.0003772 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,15)



TP delay [ns]

0 50 100

3918

3918.05

3918.1

3918.15

3918.2

TVC (Mean) vs TP delay (c,b,ch)=(4,5,0)
 / ndf 2χ  21.38 / 25

p0        0.0±  3918 

p1        0.0002038± -0.0006608 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,0)

TP delay [ns]

0 50 100

3915.6

3915.7

3915.8

TVC (Mean) vs TP delay (c,b,ch)=(4,5,1)
 / ndf 2χ  27.29 / 25

p0        0.0±  3916 

p1        0.0001814± -0.0008086 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,1)

TP delay [ns]

0 50 100

3921.1

3921.15

3921.2

3921.25

TVC (Mean) vs TP delay (c,b,ch)=(4,5,2)
 / ndf 2χ  39.73 / 25

p0        0.0±  3921 

p1        0.0001857± -0.0009368 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,2)

TP delay [ns]

0 50 100

3926.1

3926.15

3926.2

3926.25

3926.3

TVC (Mean) vs TP delay (c,b,ch)=(4,5,3)
 / ndf 2χ  32.21 / 25

p0        0.0±  3926 

p1        0.0001873± -0.0009867 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,3)

TP delay [ns]

0 50 100
3913.45

3913.5

3913.55

3913.6

3913.65

TVC (Mean) vs TP delay (c,b,ch)=(4,5,4)
 / ndf 2χ  14.75 / 25

p0        0.0±  3914 

p1        1.862e-04± -6.881e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,4)
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TVC (Mean) vs TP delay (c,b,ch)=(4,5,5)
 / ndf 2χ  26.74 / 25

p0        0.0±  3909 

p1        0.0001765± -0.0002411 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,5)
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TVC (Mean) vs TP delay (c,b,ch)=(4,5,6)
 / ndf 2χ   41.6 / 25

p0        0.0±  3920 

p1        0.0001908± -0.0003344 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,6)

TP delay [ns]
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3910.6

TVC (Mean) vs TP delay (c,b,ch)=(4,5,7)
 / ndf 2χ  30.39 / 25

p0        0.0±  3911 

p1        0.000184± -0.000145 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,7)

TP delay [ns]
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3940.95

TVC (Mean) vs TP delay (c,b,ch)=(4,5,8)
 / ndf 2χ   21.5 / 25

p0        0.0±  3941 

p1        2.022e-04± 2.158e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,8)

TP delay [ns]
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3938.3

3938.4

3938.5

TVC (Mean) vs TP delay (c,b,ch)=(4,5,9)
 / ndf 2χ  31.63 / 25

p0        0.0±  3938 

p1        1.846e-04± -7.933e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,9)
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3940.45

TVC (Mean) vs TP delay (c,b,ch)=(4,5,10)
 / ndf 2χ  33.51 / 25

p0        0.0±  3940 

p1        0.0001858± -0.0005585 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,10)

TP delay [ns]
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3935.5

TVC (Mean) vs TP delay (c,b,ch)=(4,5,11)
 / ndf 2χ  37.97 / 25

p0        0.0±  3936 

p1        0.0001853± -0.0005565 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,11)

TP delay [ns]
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3938.05
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3938.15

3938.2
TVC (Mean) vs TP delay (c,b,ch)=(4,5,12)

 / ndf 2χ  21.46 / 25

p0        0.0±  3938 

p1        0.0002031± -0.0003515 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,12)

TP delay [ns]

0 50 100

3937.7
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3937.85

TVC (Mean) vs TP delay (c,b,ch)=(4,5,13)
 / ndf 2χ  26.49 / 25

p0        0.0±  3938 

p1        0.0001924± -0.0005027 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,13)

TP delay [ns]
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3942.2

TVC (Mean) vs TP delay (c,b,ch)=(4,5,14)
 / ndf 2χ  20.56 / 25

p0        0.0±  3942 

p1        0.0001795± -0.0004889 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,14)

TP delay [ns]
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3941.1

3941.15

3941.2

3941.25

TVC (Mean) vs TP delay (c,b,ch)=(4,5,15)
 / ndf 2χ  36.84 / 25

p0        0.0±  3941 

p1        0.0001723± -0.0005683 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,15)



TP delay [ns]

0 50 100

3923.7

3923.75

3923.8

3923.85

TVC (Mean) vs TP delay (c,b,ch)=(4,6,0)
 / ndf 2χ   27.4 / 25

p0        0.0±  3924 

p1        0.0001939± -0.0002479 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,0)

TP delay [ns]

0 50 100

3926
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TVC (Mean) vs TP delay (c,b,ch)=(4,6,1)
 / ndf 2χ     17 / 25

p0        0.0±  3927 

p1        0.0001805± -0.0001421 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,1)

TP delay [ns]
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3934.8
TVC (Mean) vs TP delay (c,b,ch)=(4,6,2)

 / ndf 2χ  20.91 / 25

p0        0.0±  3935 

p1        0.0001789± -0.0002292 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,2)

TP delay [ns]
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3929.55
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TVC (Mean) vs TP delay (c,b,ch)=(4,6,3)
 / ndf 2χ  36.04 / 25

p0        0.0±  3930 

p1        0.0001847± -0.0002487 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,3)

TP delay [ns]
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3918.25

3918.3
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3918.4

TVC (Mean) vs TP delay (c,b,ch)=(4,6,4)
 / ndf 2χ  30.44 / 25

p0        0.0±  3918 

p1        0.000179± -0.000495 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,4)

TP delay [ns]
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3916.25

TVC (Mean) vs TP delay (c,b,ch)=(4,6,5)
 / ndf 2χ  25.19 / 25

p0        0.0±  3916 

p1        1.818e-04± -6.122e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,5)

TP delay [ns]
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3915.65

TVC (Mean) vs TP delay (c,b,ch)=(4,6,6)
 / ndf 2χ     37 / 25

p0        0.0±  3916 

p1        0.0001829± -0.0004173 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,6)

TP delay [ns]
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3914.5

3915

TVC (Mean) vs TP delay (c,b,ch)=(4,6,7)
 / ndf 2χ  14.78 / 25

p0        0.0±  3915 

p1        0.0001872± -0.0002494 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,7)

TP delay [ns]
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3928.4

3928.6

3928.8

TVC (Mean) vs TP delay (c,b,ch)=(4,6,8)
 / ndf 2χ  28.64 / 25

p0        0.0±  3929 

p1        1.866e-04± -6.353e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,8)

TP delay [ns]
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3919.5

3919.55

3919.6

TVC (Mean) vs TP delay (c,b,ch)=(4,6,9)
 / ndf 2χ  31.41 / 25

p0        0.0±  3920 

p1        1.868e-04± -2.648e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,9)

TP delay [ns]
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3918.85

3918.9

3918.95

TVC (Mean) vs TP delay (c,b,ch)=(4,6,10)
 / ndf 2χ  36.96 / 25

p0        0.0±  3919 

p1        1.719e-04± -5.456e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,10)

TP delay [ns]
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3926.1

3926.15

3926.2

3926.25
TVC (Mean) vs TP delay (c,b,ch)=(4,6,11)

 / ndf 2χ     39 / 25

p0        0.0±  3926 

p1        0.0001852± -0.0005092 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,11)

TP delay [ns]
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3932.2

3932.25

3932.3

TVC (Mean) vs TP delay (c,b,ch)=(4,6,12) / ndf 
2χ  23.92 / 25

p0        0.0±  3932 

p1        0.000197± -0.000377 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,12)

TP delay [ns]

0 50 100

3931.65

3931.7

3931.75

3931.8

TVC (Mean) vs TP delay (c,b,ch)=(4,6,13)
 / ndf 2χ  35.97 / 25

p0        0.0±  3932 

p1        0.0001997± -0.0005505 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,13)

TP delay [ns]
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3920.55

TVC (Mean) vs TP delay (c,b,ch)=(4,6,14)
 / ndf 2χ  44.88 / 25

p0        0.0±  3920 

p1        0.0001793± -0.0001762 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,14)

TP delay [ns]
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3928.55

3928.6

3928.65

TVC (Mean) vs TP delay (c,b,ch)=(4,6,15)
 / ndf 2χ  21.99 / 25

p0        0.0±  3929 

p1        0.0001822± -0.0005239 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,15)



TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,7,0)
 / ndf 2χ  57.02 / 25

p0        0.0±  3945 

p1        0.0002074± -0.0001608 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,0)

TP delay [ns]
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3946.45

3946.5

3946.55

3946.6

TVC (Mean) vs TP delay (c,b,ch)=(4,7,1)
 / ndf 2χ  29.67 / 25

p0        0.0±  3947 

p1        1.802e-04± 7.115e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,1)

TP delay [ns]
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3941.6

3941.65

3941.7

3941.75

TVC (Mean) vs TP delay (c,b,ch)=(4,7,2) / ndf 
2χ  48.78 / 25

p0        0.0±  3942 

p1        0.000184± 0.000395 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,2)

TP delay [ns]
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3944.65

3944.7

3944.75

TVC (Mean) vs TP delay (c,b,ch)=(4,7,3)
 / ndf 2χ  37.04 / 25

p0        0.0±  3945 

p1        1.924e-04± 6.278e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,3)

TP delay [ns]
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3930.95
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3931.05

3931.1

TVC (Mean) vs TP delay (c,b,ch)=(4,7,4)
 / ndf 2χ  21.82 / 25

p0        0.0±  3931 

p1        0.0002033± -0.0004992 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,4)

TP delay [ns]
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3930.2
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3930.35

TVC (Mean) vs TP delay (c,b,ch)=(4,7,5)
 / ndf 2χ  21.04 / 25

p0        0.0±  3930 

p1        0.0001775± -0.0003903 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,5)

TP delay [ns]
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3934.05

3934.1

3934.15

3934.2

3934.25

TVC (Mean) vs TP delay (c,b,ch)=(4,7,6)
 / ndf 2χ  28.94 / 25

p0        0.0±  3934 

p1        0.0001844± -0.0004114 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,6)

TP delay [ns]
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3944.7

3944.75

3944.8

3944.85

TVC (Mean) vs TP delay (c,b,ch)=(4,7,7)
 / ndf 2χ  18.63 / 25

p0        0.0±  3945 

p1        0.0001953± -0.0006088 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,7)

TP delay [ns]
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3937.45

3937.5

3937.55

3937.6

TVC (Mean) vs TP delay (c,b,ch)=(4,7,8) / ndf 
2χ  24.16 / 25

p0        0.0±  3938 

p1        0.000190± -0.000777 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,8)

TP delay [ns]
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3932.8

3932.9

3933

TVC (Mean) vs TP delay (c,b,ch)=(4,7,9)
 / ndf 2χ  48.24 / 25

p0        0.0±  3933 

p1        0.0001871± -0.0006989 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,9)

TP delay [ns]
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3928.65

3928.7

3928.75

3928.8

TVC (Mean) vs TP delay (c,b,ch)=(4,7,10)
 / ndf 2χ     42 / 25

p0        0.0±  3929 

p1        0.0001793± -0.0008166 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,10)

TP delay [ns]
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3928.45

3928.5

3928.55

3928.6

TVC (Mean) vs TP delay (c,b,ch)=(4,7,11)
 / ndf 2χ  30.03 / 25

p0        0.0±  3929 

p1        0.0001807± -0.0009573 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,11)

TP delay [ns]
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3954.3

3954.35

3954.4

3954.45

TVC (Mean) vs TP delay (c,b,ch)=(4,7,12)
 / ndf 2χ  39.24 / 25

p0        0.0±  3954 

p1        0.0001952± -0.0003357 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,12)

TP delay [ns]
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3957.1

TVC (Mean) vs TP delay (c,b,ch)=(4,7,13)
 / ndf 2χ  49.44 / 25

p0        0.0±  3957 

p1        0.0001943± -0.0003285 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,13)

TP delay [ns]
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3954.55

3954.6

3954.65

3954.7

TVC (Mean) vs TP delay (c,b,ch)=(4,7,14)
 / ndf 2χ  36.96 / 25

p0        0.0±  3955 

p1        0.0001832± -0.0003533 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,14)

TP delay [ns]
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3956

3958

3960

TVC (Mean) vs TP delay (c,b,ch)=(4,7,15)
 / ndf 2χ  44.16 / 25

p0        0.0±  3960 

p1        0.0001711± -0.0009788 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,15)



TP delay [ns]
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3916.2

3916.25

3916.3

TVC (Mean) vs TP delay (c,b,ch)=(4,8,0)
 / ndf 2χ  22.43 / 25

p0        0.0±  3916 

p1        0.0001879± -0.0006128 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,0)

TP delay [ns]
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3914.7

3914.75

TVC (Mean) vs TP delay (c,b,ch)=(4,8,1)
 / ndf 2χ  52.97 / 25

p0        0.0±  3915 

p1        0.0001819± -0.0002427 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,1)

TP delay [ns]
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3925.15

3925.2

3925.25

TVC (Mean) vs TP delay (c,b,ch)=(4,8,2)
 / ndf 2χ  31.05 / 25

p0        0.0±  3925 

p1        0.0001846± -0.0005596 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,2)

TP delay [ns]
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3919.4

3919.45

3919.5

3919.55

TVC (Mean) vs TP delay (c,b,ch)=(4,8,3)
 / ndf 2χ  21.05 / 25

p0        0.0±  3919 

p1        0.0001784± -0.0003547 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,3)

TP delay [ns]
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3918.45

3918.5

3918.55

3918.6

TVC (Mean) vs TP delay (c,b,ch)=(4,8,4)
 / ndf 2χ  30.96 / 25

p0        0.0±  3919 

p1        0.0001898± -0.0005325 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,4)

TP delay [ns]

0 50 100

3910.8

3910.85

3910.9

3910.95

TVC (Mean) vs TP delay (c,b,ch)=(4,8,5)
 / ndf 2χ  46.76 / 25

p0        0.0±  3911 

p1        0.0001806± -0.0003152 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,5)

TP delay [ns]
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3913.25

3913.3

3913.35

3913.4

TVC (Mean) vs TP delay (c,b,ch)=(4,8,6)
 / ndf 2χ   39.4 / 25

p0        0.0±  3913 

p1        0.0001843± -0.0001571 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,6)

TP delay [ns]

0 50 100

3914.1

3914.15

3914.2

3914.25

TVC (Mean) vs TP delay (c,b,ch)=(4,8,7)
 / ndf 2χ  43.26 / 25

p0        0.0±  3914 

p1        0.0001782± -0.0003429 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,7)

TP delay [ns]
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3913.05

3913.1

3913.15

3913.2

TVC (Mean) vs TP delay (c,b,ch)=(4,8,8)
 / ndf 2χ  38.22 / 25

p0        0.0±  3913 

p1        0.0001799± -0.0003097 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,8)

TP delay [ns]
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3911

TVC (Mean) vs TP delay (c,b,ch)=(4,8,9)
 / ndf 2χ  34.65 / 25

p0        0.0±  3911 

p1        0.0001878± -0.0002114 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,9)

TP delay [ns]
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3913.75

3913.8

3913.85

3913.9

3913.95
TVC (Mean) vs TP delay (c,b,ch)=(4,8,10)

 / ndf 2χ  34.27 / 25

p0        0.0±  3914 

p1        0.0001830± -0.0004528 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,10)

TP delay [ns]

0 50 100

3917.55

3917.6

3917.65

3917.7

TVC (Mean) vs TP delay (c,b,ch)=(4,8,11) / ndf 
2χ  34.84 / 25

p0        0.0±  3918 

p1        0.00018± -0.00047 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,11)

TP delay [ns]
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3900.1

TVC (Mean) vs TP delay (c,b,ch)=(4,8,12)
 / ndf 2χ   28.4 / 25

p0        0.0±  3900 

p1        0.0001801± 0.0001793 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,12)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,8,13)
 / ndf 2χ  19.19 / 25

p0        0.0±  3904 

p1        0.0001828± -0.0004083 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,13)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,8,14)

 / ndf 2χ  22.48 / 25

p0        0.0±  3906 

p1        0.0001796± -0.0004461 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,14)

TP delay [ns]
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3912.45
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3912.55

TVC (Mean) vs TP delay (c,b,ch)=(4,8,15) / ndf 
2χ  36.08 / 25

p0        0.0±  3912 

p1        0.000175± -0.000137 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,15)



TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,9,0)
 / ndf 2χ  29.28 / 25

p0        0.0±  3957 

p1        0.0001977± -0.0003045 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,0)

TP delay [ns]
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3949.1

TVC (Mean) vs TP delay (c,b,ch)=(4,9,1)
 / ndf 2χ  34.06 / 25

p0        0.0±  3949 

p1        0.0002098± -0.0001985 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,1)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,9,2)
 / ndf 2χ  28.59 / 25

p0        0.0±  3952 

p1        0.0001893± -0.0007545 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,2)

TP delay [ns]
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3958.15

TVC (Mean) vs TP delay (c,b,ch)=(4,9,3)
 / ndf 2χ  50.12 / 25

p0        0.0±  3958 

p1        1.707e-04± -7.314e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,3)

TP delay [ns]
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3931.2

3931.25

TVC (Mean) vs TP delay (c,b,ch)=(4,9,4)
 / ndf 2χ  34.25 / 25

p0        0.0±  3931 

p1        0.0001973± -0.0004435 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,4)

TP delay [ns]
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3941.5

3941.55

3941.6

3941.65

TVC (Mean) vs TP delay (c,b,ch)=(4,9,5)
 / ndf 2χ  24.23 / 25

p0        0.0±  3942 

p1        0.0001843± -0.0002105 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,5)

TP delay [ns]
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3944

3945

TVC (Mean) vs TP delay (c,b,ch)=(4,9,6)
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TVC (Mean) vs TP delay (c,b,ch)=(4,11,9)

TP delay [ns]

0 50 100

3936.1

3936.15

3936.2

3936.25
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TVC sigma (RMS) (c,b,ch)=(3,9,0)TVC sigma (RMS) (c,b,ch)=(3,9,0)
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1.5

2

TVC sigma (RMS) (c,b,ch)=(3,9,1)TVC sigma (RMS) (c,b,ch)=(3,9,1)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,9,2)TVC sigma (RMS) (c,b,ch)=(3,9,2)
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1.5

2

TVC sigma (RMS) (c,b,ch)=(3,9,3)TVC sigma (RMS) (c,b,ch)=(3,9,3)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,9,4)TVC sigma (RMS) (c,b,ch)=(3,9,4)
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1.5

2

TVC sigma (RMS) (c,b,ch)=(3,9,5)TVC sigma (RMS) (c,b,ch)=(3,9,5)
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1.5

2

TVC sigma (RMS) (c,b,ch)=(3,9,6)TVC sigma (RMS) (c,b,ch)=(3,9,6)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,9,7)TVC sigma (RMS) (c,b,ch)=(3,9,7)
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1.5

2

TVC sigma (RMS) (c,b,ch)=(3,9,8)TVC sigma (RMS) (c,b,ch)=(3,9,8)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,9,9)TVC sigma (RMS) (c,b,ch)=(3,9,9)
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1.5

2

TVC sigma (RMS) (c,b,ch)=(3,9,10)TVC sigma (RMS) (c,b,ch)=(3,9,10)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,9,11)TVC sigma (RMS) (c,b,ch)=(3,9,11)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,9,12)TVC sigma (RMS) (c,b,ch)=(3,9,12)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,9,13)TVC sigma (RMS) (c,b,ch)=(3,9,13)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,9,14)TVC sigma (RMS) (c,b,ch)=(3,9,14)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,9,15)TVC sigma (RMS) (c,b,ch)=(3,9,15)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,10,0)TVC sigma (RMS) (c,b,ch)=(3,10,0)
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0.5
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1.5

2

TVC sigma (RMS) (c,b,ch)=(3,10,1)TVC sigma (RMS) (c,b,ch)=(3,10,1)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,10,2)TVC sigma (RMS) (c,b,ch)=(3,10,2)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,10,3)TVC sigma (RMS) (c,b,ch)=(3,10,3)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,10,4)TVC sigma (RMS) (c,b,ch)=(3,10,4)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,10,5)TVC sigma (RMS) (c,b,ch)=(3,10,5)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,10,6)TVC sigma (RMS) (c,b,ch)=(3,10,6)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,10,7)TVC sigma (RMS) (c,b,ch)=(3,10,7)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,10,8)TVC sigma (RMS) (c,b,ch)=(3,10,8)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,10,9)TVC sigma (RMS) (c,b,ch)=(3,10,9)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,10,10)TVC sigma (RMS) (c,b,ch)=(3,10,10)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,10,11)TVC sigma (RMS) (c,b,ch)=(3,10,11)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,10,12)TVC sigma (RMS) (c,b,ch)=(3,10,12)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,10,13)TVC sigma (RMS) (c,b,ch)=(3,10,13)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,10,14)TVC sigma (RMS) (c,b,ch)=(3,10,14)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,10,15)TVC sigma (RMS) (c,b,ch)=(3,10,15)
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1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,0)TVC sigma (RMS) (c,b,ch)=(3,11,0)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,1)TVC sigma (RMS) (c,b,ch)=(3,11,1)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,2)TVC sigma (RMS) (c,b,ch)=(3,11,2)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,3)TVC sigma (RMS) (c,b,ch)=(3,11,3)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,4)TVC sigma (RMS) (c,b,ch)=(3,11,4)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,5)TVC sigma (RMS) (c,b,ch)=(3,11,5)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,6)TVC sigma (RMS) (c,b,ch)=(3,11,6)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,7)TVC sigma (RMS) (c,b,ch)=(3,11,7)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,8)TVC sigma (RMS) (c,b,ch)=(3,11,8)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,9)TVC sigma (RMS) (c,b,ch)=(3,11,9)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,10)TVC sigma (RMS) (c,b,ch)=(3,11,10)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,11)TVC sigma (RMS) (c,b,ch)=(3,11,11)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,12)TVC sigma (RMS) (c,b,ch)=(3,11,12)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,13)TVC sigma (RMS) (c,b,ch)=(3,11,13)
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1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,14)TVC sigma (RMS) (c,b,ch)=(3,11,14)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,15)TVC sigma (RMS) (c,b,ch)=(3,11,15)



0 50 100

0.96

0.98

1

1.02

1.04
TVC sigma (RMS) (c,b,ch)=(4,0,0)TVC sigma (RMS) (c,b,ch)=(4,0,0)
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0.9

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,0,1)TVC sigma (RMS) (c,b,ch)=(4,0,1)
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0.99

1

1.01

1.02

1.03
TVC sigma (RMS) (c,b,ch)=(4,0,2)TVC sigma (RMS) (c,b,ch)=(4,0,2)

0 50 100

0.92

0.94

0.96

0.98

TVC sigma (RMS) (c,b,ch)=(4,0,3)TVC sigma (RMS) (c,b,ch)=(4,0,3)
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0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,0,4)TVC sigma (RMS) (c,b,ch)=(4,0,4)
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1

1.02

1.04
TVC sigma (RMS) (c,b,ch)=(4,0,5)TVC sigma (RMS) (c,b,ch)=(4,0,5)
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1.04

1.06

TVC sigma (RMS) (c,b,ch)=(4,0,6)TVC sigma (RMS) (c,b,ch)=(4,0,6)
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1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,0,7)TVC sigma (RMS) (c,b,ch)=(4,0,7)

0 50 100

0.96
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1.02

TVC sigma (RMS) (c,b,ch)=(4,0,8)TVC sigma (RMS) (c,b,ch)=(4,0,8)
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TVC sigma (RMS) (c,b,ch)=(4,0,9)TVC sigma (RMS) (c,b,ch)=(4,0,9)

0 50 100

0.92

0.94
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TVC sigma (RMS) (c,b,ch)=(4,0,10)TVC sigma (RMS) (c,b,ch)=(4,0,10)
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1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,0,11)TVC sigma (RMS) (c,b,ch)=(4,0,11)
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0.96

0.98

TVC sigma (RMS) (c,b,ch)=(4,0,12)TVC sigma (RMS) (c,b,ch)=(4,0,12)
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0.98

TVC sigma (RMS) (c,b,ch)=(4,0,13)TVC sigma (RMS) (c,b,ch)=(4,0,13)
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1.03

TVC sigma (RMS) (c,b,ch)=(4,0,14)TVC sigma (RMS) (c,b,ch)=(4,0,14)
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1

1.02

1.04
TVC sigma (RMS) (c,b,ch)=(4,0,15)TVC sigma (RMS) (c,b,ch)=(4,0,15)
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TVC sigma (RMS) (c,b,ch)=(4,1,0)TVC sigma (RMS) (c,b,ch)=(4,1,0)
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1
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1.04

TVC sigma (RMS) (c,b,ch)=(4,1,1)TVC sigma (RMS) (c,b,ch)=(4,1,1)

0 50 100

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,1,2)TVC sigma (RMS) (c,b,ch)=(4,1,2)

0 50 100

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,1,3)TVC sigma (RMS) (c,b,ch)=(4,1,3)

0 50 100

0.9

0.92

0.94

0.96

TVC sigma (RMS) (c,b,ch)=(4,1,4)TVC sigma (RMS) (c,b,ch)=(4,1,4)
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0.95

1

1.05

TVC sigma (RMS) (c,b,ch)=(4,1,5)TVC sigma (RMS) (c,b,ch)=(4,1,5)

0 50 100

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,1,6)TVC sigma (RMS) (c,b,ch)=(4,1,6)

0 50 100

0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,1,7)TVC sigma (RMS) (c,b,ch)=(4,1,7)
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0.95

1

TVC sigma (RMS) (c,b,ch)=(4,1,8)TVC sigma (RMS) (c,b,ch)=(4,1,8)

0 50 100
0.94

0.96

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,1,9)TVC sigma (RMS) (c,b,ch)=(4,1,9)
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1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,1,10)TVC sigma (RMS) (c,b,ch)=(4,1,10)
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0.8
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0.95

TVC sigma (RMS) (c,b,ch)=(4,1,11)TVC sigma (RMS) (c,b,ch)=(4,1,11)
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1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,1,12)TVC sigma (RMS) (c,b,ch)=(4,1,12)
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1

1.01

1.02

TVC sigma (RMS) (c,b,ch)=(4,1,13)TVC sigma (RMS) (c,b,ch)=(4,1,13)
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0.88
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0.94

TVC sigma (RMS) (c,b,ch)=(4,1,14)TVC sigma (RMS) (c,b,ch)=(4,1,14)
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0.94

0.96

0.98

1

TVC sigma (RMS) (c,b,ch)=(4,1,15)TVC sigma (RMS) (c,b,ch)=(4,1,15)



0 50 100

0.9

0.92

0.94

0.96

0.98

TVC sigma (RMS) (c,b,ch)=(4,2,0)TVC sigma (RMS) (c,b,ch)=(4,2,0)
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TVC sigma (RMS) (c,b,ch)=(4,2,1)TVC sigma (RMS) (c,b,ch)=(4,2,1)
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0.88

TVC sigma (RMS) (c,b,ch)=(4,2,2)TVC sigma (RMS) (c,b,ch)=(4,2,2)
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0.98

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,2,3)TVC sigma (RMS) (c,b,ch)=(4,2,3)

0 50 100

0.94

0.96

0.98

1

TVC sigma (RMS) (c,b,ch)=(4,2,4)TVC sigma (RMS) (c,b,ch)=(4,2,4)

0 50 100

1

1.01

1.02

1.03

TVC sigma (RMS) (c,b,ch)=(4,2,5)TVC sigma (RMS) (c,b,ch)=(4,2,5)
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0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,2,6)TVC sigma (RMS) (c,b,ch)=(4,2,6)
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TVC sigma (RMS) (c,b,ch)=(4,2,7)TVC sigma (RMS) (c,b,ch)=(4,2,7)
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1
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1.04

1.06

TVC sigma (RMS) (c,b,ch)=(4,2,8)TVC sigma (RMS) (c,b,ch)=(4,2,8)
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TVC sigma (RMS) (c,b,ch)=(4,2,9)TVC sigma (RMS) (c,b,ch)=(4,2,9)
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TVC sigma (RMS) (c,b,ch)=(4,2,10)TVC sigma (RMS) (c,b,ch)=(4,2,10)
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0.85

TVC sigma (RMS) (c,b,ch)=(4,2,11)TVC sigma (RMS) (c,b,ch)=(4,2,11)
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1.01

1.02

1.03

TVC sigma (RMS) (c,b,ch)=(4,2,12)TVC sigma (RMS) (c,b,ch)=(4,2,12)
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1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,2,13)TVC sigma (RMS) (c,b,ch)=(4,2,13)
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0.88
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0.94

TVC sigma (RMS) (c,b,ch)=(4,2,14)TVC sigma (RMS) (c,b,ch)=(4,2,14)
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0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,2,15)TVC sigma (RMS) (c,b,ch)=(4,2,15)
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0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,3,0)TVC sigma (RMS) (c,b,ch)=(4,3,0)
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1
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TVC sigma (RMS) (c,b,ch)=(4,3,1)TVC sigma (RMS) (c,b,ch)=(4,3,1)
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TVC sigma (RMS) (c,b,ch)=(4,3,2)TVC sigma (RMS) (c,b,ch)=(4,3,2)
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1
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TVC sigma (RMS) (c,b,ch)=(4,3,3)TVC sigma (RMS) (c,b,ch)=(4,3,3)
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0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,3,4)TVC sigma (RMS) (c,b,ch)=(4,3,4)
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1
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1.03

1.04

TVC sigma (RMS) (c,b,ch)=(4,3,5)TVC sigma (RMS) (c,b,ch)=(4,3,5)
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1.04
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1.08

1.1

TVC sigma (RMS) (c,b,ch)=(4,3,6)TVC sigma (RMS) (c,b,ch)=(4,3,6)
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TVC sigma (RMS) (c,b,ch)=(4,3,7)TVC sigma (RMS) (c,b,ch)=(4,3,7)
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TVC sigma (RMS) (c,b,ch)=(4,3,8)TVC sigma (RMS) (c,b,ch)=(4,3,8)
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TVC sigma (RMS) (c,b,ch)=(4,3,9)TVC sigma (RMS) (c,b,ch)=(4,3,9)
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TVC sigma (RMS) (c,b,ch)=(4,3,10)TVC sigma (RMS) (c,b,ch)=(4,3,10)
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TVC sigma (RMS) (c,b,ch)=(4,3,11)TVC sigma (RMS) (c,b,ch)=(4,3,11)

0 50 100

1

1.05

TVC sigma (RMS) (c,b,ch)=(4,3,12)TVC sigma (RMS) (c,b,ch)=(4,3,12)
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TVC sigma (RMS) (c,b,ch)=(4,3,13)TVC sigma (RMS) (c,b,ch)=(4,3,13)
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TVC sigma (RMS) (c,b,ch)=(4,3,14)TVC sigma (RMS) (c,b,ch)=(4,3,14)
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0.85

TVC sigma (RMS) (c,b,ch)=(4,3,15)TVC sigma (RMS) (c,b,ch)=(4,3,15)
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TVC sigma (RMS) (c,b,ch)=(4,4,0)TVC sigma (RMS) (c,b,ch)=(4,4,0)
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TVC sigma (RMS) (c,b,ch)=(4,4,1)TVC sigma (RMS) (c,b,ch)=(4,4,1)
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TVC sigma (RMS) (c,b,ch)=(4,4,2)TVC sigma (RMS) (c,b,ch)=(4,4,2)
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TVC sigma (RMS) (c,b,ch)=(4,4,3)TVC sigma (RMS) (c,b,ch)=(4,4,3)

0 50 100

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,4,4)TVC sigma (RMS) (c,b,ch)=(4,4,4)
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TVC sigma (RMS) (c,b,ch)=(4,4,5)TVC sigma (RMS) (c,b,ch)=(4,4,5)
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TVC sigma (RMS) (c,b,ch)=(4,4,6)TVC sigma (RMS) (c,b,ch)=(4,4,6)
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TVC sigma (RMS) (c,b,ch)=(4,4,7)TVC sigma (RMS) (c,b,ch)=(4,4,7)
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TVC sigma (RMS) (c,b,ch)=(4,4,8)TVC sigma (RMS) (c,b,ch)=(4,4,8)
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TVC sigma (RMS) (c,b,ch)=(4,4,9)TVC sigma (RMS) (c,b,ch)=(4,4,9)
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TVC sigma (RMS) (c,b,ch)=(4,4,10)TVC sigma (RMS) (c,b,ch)=(4,4,10)
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TVC sigma (RMS) (c,b,ch)=(4,4,11)TVC sigma (RMS) (c,b,ch)=(4,4,11)
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TVC sigma (RMS) (c,b,ch)=(4,4,12)TVC sigma (RMS) (c,b,ch)=(4,4,12)
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1

TVC sigma (RMS) (c,b,ch)=(4,4,13)TVC sigma (RMS) (c,b,ch)=(4,4,13)
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TVC sigma (RMS) (c,b,ch)=(4,4,14)TVC sigma (RMS) (c,b,ch)=(4,4,14)
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TVC sigma (RMS) (c,b,ch)=(4,4,15)TVC sigma (RMS) (c,b,ch)=(4,4,15)
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TVC sigma (RMS) (c,b,ch)=(4,5,0)TVC sigma (RMS) (c,b,ch)=(4,5,0)
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TVC sigma (RMS) (c,b,ch)=(4,5,1)TVC sigma (RMS) (c,b,ch)=(4,5,1)
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TVC sigma (RMS) (c,b,ch)=(4,5,2)TVC sigma (RMS) (c,b,ch)=(4,5,2)
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0.85

0.9

0.95
TVC sigma (RMS) (c,b,ch)=(4,5,3)TVC sigma (RMS) (c,b,ch)=(4,5,3)
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1.01

1.02

1.03

1.04

TVC sigma (RMS) (c,b,ch)=(4,5,4)TVC sigma (RMS) (c,b,ch)=(4,5,4)
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0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,5,5)TVC sigma (RMS) (c,b,ch)=(4,5,5)
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0.96
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1

1.02

TVC sigma (RMS) (c,b,ch)=(4,5,6)TVC sigma (RMS) (c,b,ch)=(4,5,6)
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0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,5,7)TVC sigma (RMS) (c,b,ch)=(4,5,7)
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0.9
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TVC sigma (RMS) (c,b,ch)=(4,5,8)TVC sigma (RMS) (c,b,ch)=(4,5,8)
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0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,5,9)TVC sigma (RMS) (c,b,ch)=(4,5,9)

0 50 100

0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,5,10)TVC sigma (RMS) (c,b,ch)=(4,5,10)

0 50 100

0.98

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,5,11)TVC sigma (RMS) (c,b,ch)=(4,5,11)

0 50 100
0.92

0.94

0.96

0.98

1

TVC sigma (RMS) (c,b,ch)=(4,5,12)TVC sigma (RMS) (c,b,ch)=(4,5,12)
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0.98

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,5,13)TVC sigma (RMS) (c,b,ch)=(4,5,13)

0 50 100
0.82

0.84

0.86

0.88

0.9

TVC sigma (RMS) (c,b,ch)=(4,5,14)TVC sigma (RMS) (c,b,ch)=(4,5,14)
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0.92

0.94

0.96

0.98

TVC sigma (RMS) (c,b,ch)=(4,5,15)TVC sigma (RMS) (c,b,ch)=(4,5,15)



0 50 100

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,6,0)TVC sigma (RMS) (c,b,ch)=(4,6,0)

0 50 100
0.94

0.96

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,6,1)TVC sigma (RMS) (c,b,ch)=(4,6,1)
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0.75

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,6,2)TVC sigma (RMS) (c,b,ch)=(4,6,2)
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1.01

1.02

1.03

1.04

TVC sigma (RMS) (c,b,ch)=(4,6,3)TVC sigma (RMS) (c,b,ch)=(4,6,3)

0 50 100

0.75

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,6,4)TVC sigma (RMS) (c,b,ch)=(4,6,4)

0 50 100

0.84

0.86

0.88

0.9

0.92
TVC sigma (RMS) (c,b,ch)=(4,6,5)TVC sigma (RMS) (c,b,ch)=(4,6,5)
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1

1.01

1.02

1.03

1.04

TVC sigma (RMS) (c,b,ch)=(4,6,6)TVC sigma (RMS) (c,b,ch)=(4,6,6)
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0.88
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0.94

TVC sigma (RMS) (c,b,ch)=(4,6,7)TVC sigma (RMS) (c,b,ch)=(4,6,7)
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0.9

TVC sigma (RMS) (c,b,ch)=(4,6,8)TVC sigma (RMS) (c,b,ch)=(4,6,8)
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1.01

1.02

1.03

1.04

1.05

TVC sigma (RMS) (c,b,ch)=(4,6,9)TVC sigma (RMS) (c,b,ch)=(4,6,9)
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0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,6,10)TVC sigma (RMS) (c,b,ch)=(4,6,10)
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0.84

0.86

0.88

0.9

0.92

TVC sigma (RMS) (c,b,ch)=(4,6,11)TVC sigma (RMS) (c,b,ch)=(4,6,11)
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0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,6,12)TVC sigma (RMS) (c,b,ch)=(4,6,12)
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1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,6,13)TVC sigma (RMS) (c,b,ch)=(4,6,13)
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0.75

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,6,14)TVC sigma (RMS) (c,b,ch)=(4,6,14)
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0.75

0.8

TVC sigma (RMS) (c,b,ch)=(4,6,15)TVC sigma (RMS) (c,b,ch)=(4,6,15)
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1.05

1.1

TVC sigma (RMS) (c,b,ch)=(4,7,0)TVC sigma (RMS) (c,b,ch)=(4,7,0)
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0.75

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,7,1)TVC sigma (RMS) (c,b,ch)=(4,7,1)
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1

1.01

1.02

1.03
TVC sigma (RMS) (c,b,ch)=(4,7,2)TVC sigma (RMS) (c,b,ch)=(4,7,2)
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0.88
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0.94

TVC sigma (RMS) (c,b,ch)=(4,7,3)TVC sigma (RMS) (c,b,ch)=(4,7,3)
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1.04

TVC sigma (RMS) (c,b,ch)=(4,7,4)TVC sigma (RMS) (c,b,ch)=(4,7,4)
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0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,7,5)TVC sigma (RMS) (c,b,ch)=(4,7,5)
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0.95
TVC sigma (RMS) (c,b,ch)=(4,7,6)TVC sigma (RMS) (c,b,ch)=(4,7,6)

0 50 100
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1

TVC sigma (RMS) (c,b,ch)=(4,7,7)TVC sigma (RMS) (c,b,ch)=(4,7,7)
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1.02

1.04

1.06

TVC sigma (RMS) (c,b,ch)=(4,7,8)TVC sigma (RMS) (c,b,ch)=(4,7,8)
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0.95

TVC sigma (RMS) (c,b,ch)=(4,7,9)TVC sigma (RMS) (c,b,ch)=(4,7,9)
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0.8
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0.9

TVC sigma (RMS) (c,b,ch)=(4,7,10)TVC sigma (RMS) (c,b,ch)=(4,7,10)
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0.75

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,7,11)TVC sigma (RMS) (c,b,ch)=(4,7,11)
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0.85
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0.95

TVC sigma (RMS) (c,b,ch)=(4,7,12)TVC sigma (RMS) (c,b,ch)=(4,7,12)
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0.95

1

TVC sigma (RMS) (c,b,ch)=(4,7,13)TVC sigma (RMS) (c,b,ch)=(4,7,13)
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0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,7,14)TVC sigma (RMS) (c,b,ch)=(4,7,14)

0 50 100

0.75

0.8

TVC sigma (RMS) (c,b,ch)=(4,7,15)TVC sigma (RMS) (c,b,ch)=(4,7,15)
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TVC sigma (RMS) (c,b,ch)=(4,8,0)TVC sigma (RMS) (c,b,ch)=(4,8,0)
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TVC sigma (RMS) (c,b,ch)=(4,8,1)TVC sigma (RMS) (c,b,ch)=(4,8,1)
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TVC sigma (RMS) (c,b,ch)=(4,8,2)TVC sigma (RMS) (c,b,ch)=(4,8,2)
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1.03

TVC sigma (RMS) (c,b,ch)=(4,8,3)TVC sigma (RMS) (c,b,ch)=(4,8,3)
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0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,8,4)TVC sigma (RMS) (c,b,ch)=(4,8,4)
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0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,8,5)TVC sigma (RMS) (c,b,ch)=(4,8,5)
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1

1.01

1.02

1.03

TVC sigma (RMS) (c,b,ch)=(4,8,6)TVC sigma (RMS) (c,b,ch)=(4,8,6)
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0.82

0.84

0.86

0.88

0.9

TVC sigma (RMS) (c,b,ch)=(4,8,7)TVC sigma (RMS) (c,b,ch)=(4,8,7)
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1

TVC sigma (RMS) (c,b,ch)=(4,8,8)TVC sigma (RMS) (c,b,ch)=(4,8,8)
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TVC sigma (RMS) (c,b,ch)=(4,8,9)TVC sigma (RMS) (c,b,ch)=(4,8,9)
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1

TVC sigma (RMS) (c,b,ch)=(4,8,10)TVC sigma (RMS) (c,b,ch)=(4,8,10)
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1

1.01

1.02

1.03

TVC sigma (RMS) (c,b,ch)=(4,8,11)TVC sigma (RMS) (c,b,ch)=(4,8,11)
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0.86

0.88

0.9

0.92

0.94

TVC sigma (RMS) (c,b,ch)=(4,8,12)TVC sigma (RMS) (c,b,ch)=(4,8,12)
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0.9
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0.96
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TVC sigma (RMS) (c,b,ch)=(4,8,13)TVC sigma (RMS) (c,b,ch)=(4,8,13)
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1

TVC sigma (RMS) (c,b,ch)=(4,8,14)TVC sigma (RMS) (c,b,ch)=(4,8,14)
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0.75

0.8

TVC sigma (RMS) (c,b,ch)=(4,8,15)TVC sigma (RMS) (c,b,ch)=(4,8,15)
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TVC sigma (RMS) (c,b,ch)=(4,9,0)TVC sigma (RMS) (c,b,ch)=(4,9,0)
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1.04

TVC sigma (RMS) (c,b,ch)=(4,9,1)TVC sigma (RMS) (c,b,ch)=(4,9,1)

0 50 100
0.98

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,9,2)TVC sigma (RMS) (c,b,ch)=(4,9,2)
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0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,9,3)TVC sigma (RMS) (c,b,ch)=(4,9,3)
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1

1.02

1.04

1.06

TVC sigma (RMS) (c,b,ch)=(4,9,4)TVC sigma (RMS) (c,b,ch)=(4,9,4)
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1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,9,5)TVC sigma (RMS) (c,b,ch)=(4,9,5)
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1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,9,6)TVC sigma (RMS) (c,b,ch)=(4,9,6)
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1.02

TVC sigma (RMS) (c,b,ch)=(4,9,7)TVC sigma (RMS) (c,b,ch)=(4,9,7)

0 50 100
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TVC sigma (RMS) (c,b,ch)=(4,9,8)TVC sigma (RMS) (c,b,ch)=(4,9,8)
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TVC sigma (RMS) (c,b,ch)=(4,9,9)TVC sigma (RMS) (c,b,ch)=(4,9,9)

0 50 100

1

1.02
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TVC sigma (RMS) (c,b,ch)=(4,9,10)TVC sigma (RMS) (c,b,ch)=(4,9,10)
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TVC sigma (RMS) (c,b,ch)=(4,9,11)TVC sigma (RMS) (c,b,ch)=(4,9,11)
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1.02

TVC sigma (RMS) (c,b,ch)=(4,9,12)TVC sigma (RMS) (c,b,ch)=(4,9,12)
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1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,9,13)TVC sigma (RMS) (c,b,ch)=(4,9,13)
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1

1.01

1.02

1.03

TVC sigma (RMS) (c,b,ch)=(4,9,14)TVC sigma (RMS) (c,b,ch)=(4,9,14)
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0.96
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1

TVC sigma (RMS) (c,b,ch)=(4,9,15)TVC sigma (RMS) (c,b,ch)=(4,9,15)
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TVC sigma (RMS) (c,b,ch)=(4,10,0)TVC sigma (RMS) (c,b,ch)=(4,10,0)
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TVC sigma (RMS) (c,b,ch)=(4,10,1)TVC sigma (RMS) (c,b,ch)=(4,10,1)
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TVC sigma (RMS) (c,b,ch)=(4,10,2)TVC sigma (RMS) (c,b,ch)=(4,10,2)
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TVC sigma (RMS) (c,b,ch)=(4,10,3)TVC sigma (RMS) (c,b,ch)=(4,10,3)
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TVC sigma (RMS) (c,b,ch)=(4,10,4)TVC sigma (RMS) (c,b,ch)=(4,10,4)
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TVC sigma (RMS) (c,b,ch)=(4,10,5)TVC sigma (RMS) (c,b,ch)=(4,10,5)
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TVC sigma (RMS) (c,b,ch)=(4,10,6)TVC sigma (RMS) (c,b,ch)=(4,10,6)
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TVC sigma (RMS) (c,b,ch)=(4,10,7)TVC sigma (RMS) (c,b,ch)=(4,10,7)
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TVC sigma (RMS) (c,b,ch)=(4,10,8)TVC sigma (RMS) (c,b,ch)=(4,10,8)
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TVC sigma (RMS) (c,b,ch)=(4,10,9)TVC sigma (RMS) (c,b,ch)=(4,10,9)
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1.04

TVC sigma (RMS) (c,b,ch)=(4,10,10)TVC sigma (RMS) (c,b,ch)=(4,10,10)
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0.95

TVC sigma (RMS) (c,b,ch)=(4,10,11)TVC sigma (RMS) (c,b,ch)=(4,10,11)
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1.04

TVC sigma (RMS) (c,b,ch)=(4,10,12)TVC sigma (RMS) (c,b,ch)=(4,10,12)
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TVC sigma (RMS) (c,b,ch)=(4,10,13)TVC sigma (RMS) (c,b,ch)=(4,10,13)

0 50 100

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,10,14)TVC sigma (RMS) (c,b,ch)=(4,10,14)
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1.03

1.04

TVC sigma (RMS) (c,b,ch)=(4,10,15)TVC sigma (RMS) (c,b,ch)=(4,10,15)
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TVC sigma (RMS) (c,b,ch)=(4,11,0)TVC sigma (RMS) (c,b,ch)=(4,11,0)
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TVC sigma (RMS) (c,b,ch)=(4,11,1)TVC sigma (RMS) (c,b,ch)=(4,11,1)
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TVC sigma (RMS) (c,b,ch)=(4,11,2)TVC sigma (RMS) (c,b,ch)=(4,11,2)
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1
TVC sigma (RMS) (c,b,ch)=(4,11,3)TVC sigma (RMS) (c,b,ch)=(4,11,3)
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TVC sigma (RMS) (c,b,ch)=(4,11,4)TVC sigma (RMS) (c,b,ch)=(4,11,4)
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TVC sigma (RMS) (c,b,ch)=(4,11,5)TVC sigma (RMS) (c,b,ch)=(4,11,5)
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TVC sigma (RMS) (c,b,ch)=(4,11,6)TVC sigma (RMS) (c,b,ch)=(4,11,6)
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TVC sigma (RMS) (c,b,ch)=(4,11,7)TVC sigma (RMS) (c,b,ch)=(4,11,7)
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TVC sigma (RMS) (c,b,ch)=(4,11,8)TVC sigma (RMS) (c,b,ch)=(4,11,8)
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TVC sigma (RMS) (c,b,ch)=(4,11,9)TVC sigma (RMS) (c,b,ch)=(4,11,9)
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TVC sigma (RMS) (c,b,ch)=(4,11,10)TVC sigma (RMS) (c,b,ch)=(4,11,10)
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TVC sigma (RMS) (c,b,ch)=(4,11,11)TVC sigma (RMS) (c,b,ch)=(4,11,11)
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TVC sigma (RMS) (c,b,ch)=(4,11,12)TVC sigma (RMS) (c,b,ch)=(4,11,12)
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TVC sigma (RMS) (c,b,ch)=(4,11,14)TVC sigma (RMS) (c,b,ch)=(4,11,14)
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TVC sigma (RMS) (c,b,ch)=(4,11,15)TVC sigma (RMS) (c,b,ch)=(4,11,15)
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TVC sigma (RMS) (c,b,ch)=(4,12,1)TVC sigma (RMS) (c,b,ch)=(4,12,1)
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TVC sigma (RMS) (c,b,ch)=(4,12,2)TVC sigma (RMS) (c,b,ch)=(4,12,2)
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TVC sigma (RMS) (c,b,ch)=(4,12,3)TVC sigma (RMS) (c,b,ch)=(4,12,3)
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TVC sigma (RMS) (c,b,ch)=(4,12,4)TVC sigma (RMS) (c,b,ch)=(4,12,4)
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TVC sigma (RMS) (c,b,ch)=(4,12,5)TVC sigma (RMS) (c,b,ch)=(4,12,5)
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0 50 100

0.97

0.98

0.99

1

1.01

TVC sigma (RMS) (c,b,ch)=(4,12,10)TVC sigma (RMS) (c,b,ch)=(4,12,10)
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